
�������	
���
�������
������

�������
�����	�����������

�������������������

���������	
�	�

�����	��������
����������	
�	���������	
� !!��"������#$��%�

$������������	&��
"��!!��"��	���

������#��!�''�#����

����������	���	

(���(#������$�#��
'���������#����	��

����
�����������#"��
����

����
������
���	�� ��	
��#�������#$��%�

����
������	"���#"��

����'��&�	'#�&���'�#	���

���)!*������!�#�
��!"#���	�
������
�	
�#��*�����(�����

���!�#����!����	�#"�

�+�����������
����

������
���	�� ��	
��#�������#$��%�

�+��	#�������'��&�	'#�&���'�#	���

���#������#����
���
���	���

�,���������#$��%�
���#���	&�#�������$���	��$

���������������	
���
�	
��	
�����
��
	�
��
���	���
�
���
����

�
�������
�
��
��	��
�����������
������������
��
�

��������	�
�
	��
�	
��

�
����
�
� 
���
������
��������!�"����	�
�
��
����
����
�������
�������������!����
������

�
���	���
�����
�
���

	�

����
�������������������#���
�
��
	�
��
���	
����
�����	
���
���	���
����
	
�
�$�	%�����	������
�������&�'�������
�
��������
����!
��
����%�(�	�
����(��)*+,� ������������
�
��
����
������� 

�
���	!
���
�� ��	� ����
�����,� �
��	�
-,� ���� �
	��	����
� 

�
���� ��� 
�
�
&�./� ����'0��� �	�
������ ��� $
��� ��� 1����� ��

	��
	�����
-�


�
���#�	


��
���������	 ������������	 ����	 ���������	 ���������	 �������
������	�����������������	�����	�����	����	 !"�#	

��� ��-���.�-���

�/0���	���012�
0134562578���89:�90�
�
�������51���80;�<7�
=�58�16035>53�?�89:�90�>74�2/0�16035>53�2578�7>�2012�<01345625781�
�8<� 2/0� 6401082�2578� 7>� 2012� 0@03:2578� 401:?21� <0A0?760<� �8<�
12�8<�4<510<��2�2/0��:4760�8��0?037==:853�25781�	2�8<�4<1��8�
1252:20�
��	����B�2/0��03/853�?��7==52200��02/7<1�>74��012589�
�8<�	6035>53�2578�
�����	����2�37815121�7>���12�8<�4<510<�=02��
=7<0?�<0>58589�2/0�40?0A�82�37830621�� 2/0�40?�25781/561��=789�
2/0=���8<�2/0��11735�20<�10=�82531���012�<01345625781�58��
���40�
5812�8301�7>�2/0�=02��=7<0?���7834020�406401082�25781�7>�2/0�58�
12�8301�3�8�2�C0�2/0�>74=�7>�124:32:40<�20@2��94�6/53�?�1/�601��
�8<�=�3/580�40�<��?0��11021�>74�=7<0?�0@3/�890��02;008�277?1��

�/5?0�2/0�=�58�>73:1�7>��
��51�78�2/0�16035>53�2578�7>�0?���
74�20<�2012�<01345625781��583?:<589�40?0A�82�2012�<�2���2012�378>59�
:4�25781�� �8<� 2012� 1308�4571�� 12�8<�4<510<� 0@20815781� 647A5<0�
=0�81�27�;5<08�2/0�13760�7>��
��27��337==7<�20�3042�58�:10�
3�101���/0�	24:32:40<��012���D0325A0�
�
������0@2081578� ����
�<7621� 012��?51/0<� 37830621� >74� 2/0� 16035>53�2578� 7>� 2012� 6:4�
67101����10<�58�6�42�78�0@604508301�;52/�2/0�640A57:1?B��66?50<�
�012��:46710���89:�90�
����8��������
�����582094�201�2/010�
37830621� 58� �
�� =7<0?1� �B� 647A5<589� �� 
10=5��� 124:32:40<�
=0�81�>74�0@64011589�2012�7�D0325A01��8<�=�66589�2/0�401:?2589�
124:32:401�27��
��=7<0?�0?0=0821��;/53/�3�8�2/08��0�:10<�27�
1240�=?580�2/0�24�8152578�>47=�2012�6:467101�27�2012�<01345625781��

��C0<781C5� 02��?�� ���� 4067420<�78��� 12:<B� 58525�20<��B� 2/0�
��	���08240�>74��012589��8<��82047604��5?52B�
�����27��11011�2/0�

�66?53��5?52B�7>��
��>74�2/0�12�8<�4<51�2578�7>�<5A0410�203/87?�
79501���2�401:?20<�58���102�7>�878�245A5�?�0@�=6?01�7>�2012�6:467101�
�8<�2012�<01345625781�104A589��1���12�42589�67582�>74���=740�;5<0�
1640�<�:10�7>��
��;52/58���	��12�8<�4<51�2578�947:61���/51��4�
253?0�<513:1101�=740�403082�0@604508301�>47=�2/0�:10�7>��
���8<�
58�6�4253:?�4��
�����>74��8204802�7>��/5891�
�7���2012�6:46710�
<0>58525781��

�2���	���2/0��	��;74C589�947:6�;52/58������	�<0A0?761�
12:<501�� 9:5<0?5801�� 2012� 3�2�?79:01�� �8<� 2012� 16035>53�25781� >74�
16035>53�����203/87?79501�2/�2��40�872��?40�<B�37A040<��B�0@512�
589���	���03/853�?��7<501�
��1����/0�58525�?�203/853�?�>73:1�7>�
�	��51�78��

• �7��802;74C�37==:853�2578�6472737?1��87<0�37880325A�
52B��0<90�37=6:2589�

• �7��<�2���33:=:?�2578��8<��99409�2578���8<

• �7���66?53�2578�58204>�301���:158011�647301101�

�/51��4253?0�64010821� 2/0�3:44082�;74C�;52/58��	���8<� 2/0
�3/50A0=0821�409�4<589�2/0��66?53�2578�7>��
�����>74�2/0��7��
<7=�58��

	032578����647A5<01�2/0�=725A�2578��8<�13760�>74��
���58�6�4�
253:?�4�2/0�5<0�1��8<�37830621��0/58<��
������8<�374401678<�
589�277?�1:66742��	032578�����64010821�401:?21�>47=�:1589��
��
���>74�2/0��7��6472737?1��7����8<�� �����2��<<401101�>:83�
2578�?��103:452B���8<�604>74=�830�2012589��160321��!:42/04�0@60�
4508301�>47=�2/0�2012�16035>53�2578�647D032�<0>58589�582047604��5?�
52B� 20121�>74��7530"�5<07�7A04�����
�@������40�<513:110<��1�
;0??��!58�??B����1/742�3783?:1578��8<��8�7:2?77C��40�647A5<0<�58�
	032578�����

��� �
�

�� ��$�%�$���		�
	��

�/0�947;589� 13�?0�� 37=6?0@52B���8<� 5820437880320<8011�7>

1B120=1��37=67:8<0<��B�2/0�800<�>74�>�1204�25=0�27�=�4C02��8<�
>�1204�5204�2578�3B3?01��58340�101�2/0�800<�>74�=740�13�?��?0��8<�
�:27=�2��?0��6647�3/01�>74�2/0�<0A0?76=082�7>� 2012�16035>53��
25781���/0���	��2012�<0A0?76=082�6473011�58���	���#��$%�&�$�
�'�����10<�78� 2/0� D7582� �	�"�����8<� �������	�� 378>74=�830�

514

2020 IEEE 20th International Conference on Software Quality, Reliability and Security Companion (QRS-C)

978-1-7281-8915-4/20/$31.00 ©2020 IEEE
DOI 10.1109/QRS-C51114.2020.00091



2012589�=02/7<7?79B��8<�>4�=0;74C�5??:124�20<�58�!59���������7:2�
?5801��� 10E:0830�7>� 12061� >74� 2/0�<045A�2578�7>�0@03:2��?0� 2012�
3�101�>47=�����10�12�8<�4<���/0�58204=0<5�20��420>�321��2�2/0�<5>�
>04082�?0A0?1�7>���124�32578��40�58208<0<�>74�16035>53��:<508301��
1:3/��1�12�8<�4<51�2578�0@60421��203/87?79B�0@60421���8<�2012�08�
9580041����D74�25=0�3781:=589�12061�58A7?A0�2/0�<0A0?76=082�
7>� 2012� 6:467101� �8<� 2/0� 5=6?0=082�2578� 7>� 2/0� ��124�32� 2012�
1:5201���<<52578�?�586:2�58�1:3/�647301101�=�B��0�402450A0<�>47=�
647>5?0� 2012�16035>53�25781�
��	��� 5=6?0=082�2578�378>74=�830�
12�20=0821� 
��	1��� �8<� 5=6?0=082�2578� 0@24�� 58>74=�2578� >74�
2012589� 
�(��1��� �8� 6472737?� 2012589�� 2/0� ?�2204� �40� =�660<� 27�
���	1��8<���(��1��374401678<589?B���4�<52578�??B��=�8B�7>�2/0�
12061�/�A0��008�<73:=082�7450820<��8<�?�3C�1:>>535082� 277?589�
�8<��:27=�2578�1:66742� 27�08��?0� 5=647A0<�E:�?52B��8<��02204�
13�?��5?52B�7>�2/0�2012�16035>53�2578��8<�<73:=082�2578�27�=002�
2/0��330?04�2589�<0A0?76=082�647301101��

�2� 2/0� ?0A0?�7>�0@03:2��?0� 20121����	�������	�<0A0?760<�
�8<� 51� 378258:7:1?B�=�582�58589� 2/0��012589��8<��012��78247?�
)72�2578�A041578�*�
���)�*���6:�?51/0<��1���	���	�%$��&'*���
�+���7A04�2/0�6�12�%$�B0�41���2�2/0�72/04�08<�7>�2/0�160324:=��2/0�
�012��:46710���89:�90�
����8������?�5<�17=0�947:8<;74C�>74�
2/0� 124:32:40<� 16035>53�2578� 7>� 2012� 6:467101�� 58<53�2589� ;/�2�
800<1�27��0�20120<�58���<03?�4�25A0�=�8804���0>740��
��3�=0�
�?789��2/040�;�1���=02/7<7?79B�9�6��02;008�2/0�/59/�?0A0?�0@�
64011578�7>�;/�2�800<1�27��0�20120<�0@640110<�58�2012�6:467101�
<01345�0<�58�����8�74�15=6?0�?7710?B�124:32:40<�64710���8<�2/0�
37=6?0@�37<589�7>� 2/0�0@03:2��?0� 20121� 58����)�*���
�� >5??1�

2/�2�9�6���
���<7620<���=740�=7<048�=7<0?���10<��6647�3/�27�
<7=�58�16035>53�?�89:�90�<0A0?76=082��3�652�?51589�78�2/0��08�
0>521�647A5<0<��B�=�2:40�=7<0??589�>4�=0;74C1��8<�203/87?7�
9501���/51�6�A0<�2/0�;�B�>74���=740�1240�=?580<��6647�3/�27�2012�
16035>53�2578�<0A0?76=082��2���>�1204�6�30��8<���940�204�13�?0��

��� �����	�		��
	
�/0��
��=02��=7<0?�
�
������
6�42���7>�������647A5<01���

37==78�947:8<�>74�3:127=510<�406401082�25781��B�=0�81�7>�<5>�
>04082�37834020�1B82�@01���/0�12�8<�4<510<�94�6/53�?�406401082��
2578�
�
��,#��
6�42�%�7>������<0>5801�374401678<589�1/�601�>74�
2/0�406401082�2578�7>�=7<0?�0?0=0821�58��
��16035>53�25781���2�
3�8��?17�104A0��1����?:064582�>74�3:127=510<�94�6/53�?�40640108�
2�25781�2�5?740<�27�16035>53�<7=�581��8<�12�C0/7?<041���/0��
��
0@3/�890� >74=�2� 
�
��(!�� 
6�42� *� 7>� ����� 08��?01� 2/0� 58204�
3/�890�7>��
��=7<0?1��02;008�277?1���

�7=6?0=082�4B�27�2/0�3740�3781252:0821�7>��
���0@20815781�
647A5<0��<<52578�?�3�6��5?52501�27��337==7<�20�16035>53��66?53��
2578�1308�4571���/0�	24:32:40<��012���D0325A0�
�
������0@208�
1578�
6�42���7>������582094�201�37830621�40?�20<�27�2/0�16035>53�2578�
7>�2012�6:467101�58��
��=7<0?1���/0��@208<0<��012��78>59:4��
25781�
�
������
6�42�'�7>������0@2081578�647A5<01�=0�81�>74���
=740� 176/51253�20<� =�8�90=082� �8<� 40:10� 7>� 2012� 378>59:4��
25781��

!58�??B�� =�665891� 27� 72/04� ?�89:�901� 647A5<0� �45<901� 27�
72/04�203/87?79501�58���12�8<�4<510<�=�8804�� 27�1240�=?580�2/0�
24�8152578� 27� 0@03:2��?0� 20121�� >74� 0@�=6?0�� �/0� =�66589� 27�
���)�*�
�
���*��
6�42�+�7>������647A5<01���12�8<�4<510<�=�6�
6589�27����)�*��;/53/�3�8��?17�104A0��1����?:064582�>74�2/0�=�6�
6589�27�72/04�2�4902�0@03:2578�6?�2>74=1���/0�����647>5?0�>74�
�
��
����
���
6�42���7>������ 58120�<�647A5<01���;�B�27�:10�
�
��;52/58�������10<�08A5478=0821��

#03082�=�58208�830��8<�0A7?:2578�0>>7421��<<0<�1:66742�>74�
58/0452�830�58�<�2���8<�378>59:4�2578�40?�20<��
��0?0=0821��08�
��?589��02204�40:10�58��
���!:2:40�08<0�A7:41�=�B��4589�12�8<�
�4<510<�40>580=082�7>�2012�6:467101�5827�2012�<01345625781���1�;0??�
�1�12�8<�4<510<�=�665891�27�72/04�0@03:2578�6?�2>74=1��

��� ��
���	
�52/7:2� 2/0��
����� 0@2081578���
�� 647A5<01� 15=6?5>50<�

�8<� 9080453�=0�81� >74� 2/0� 16035>53�2578� 7>� 2012� 7�D0325A01� �B�
=0�81�7>�58>74=�?�20@2���/0��
�����0@2081578�58247<:301��<�
<52578�?�37830621� 27�1:66742� 2/0�16035>53�2578�7>�
10=5���124:3�
2:40<�2012�7�D0325A01�58���=740�>74=�?510<�=�8804��1�;0??��1���
37834020� 1B82�@� 872�2578� >74� 406401082589� 2/0� �<<52578�?� 378�
30621���/0��<<52578�?�37830621��40�40?�20<�27�2/0�16035>53�2578�7>�
2/0�<7=�58��583?:<589�0A0821��8<�08252501���1�;0??��1�2/0�124:32:40�
7>�2/0�2012�7�D0325A01��<0>58589�0A082�733:440830�10E:08301�>74�
58525�?�378<525781��0@60320<��0/�A57:4���8<�>58�?�378<525781���/0�
872�2578� >74� 2/0� 406401082�2578� 7>� 124:32:40<� 2012� 7�D0325A01� 51�
94�6/53�?�58�8�2:40��	7;0A04��2/0�37820821�7>�2/0�0A082�733:4�
408301��40�58�2/0�>74=�7>��8�0=�0<<0<�124:32:40<�?�89:�90�2/�2�
51�3?710�27�8�2:4�?��89?51/��;/040�08252B��8<�0A082�40>0408301��40�
1:447:8<0<� �B� C0B;74<1� �8<� <01345625A0� 20@2���/51� �6647�3/�
647A5<01�17=0�>74=�?51�2578�27�2/0�16035>53�2578�7>�2012�7�D03�
25A01� 58�74<04� 27�>�35?52�20� 2/0�A�?5<�2578�7>� 2012�7�D0325A01��8<�
6�A01�2/0�;�B�>74�24�81>74=589�2/0=�27�2012�<01345625781�74�2012�
3�10�1C0?02781��;/5?0�125??�402�58589���8�2:4�?� ?�89:�90�>00?���8�

 


-.����� �/01/234056�F6GF-0.�36F7/8/9/.H�
862-I68�12/3��-.�-�:������

515



�<<52578� 27� 2/0� 12�8<�4<510<�94�6/53�?� 406401082�2578����6:40?B�
20@2:�?�872�2578�51�647A5<0<��1��8�58>74=�25A0�0@�=6?0��

�/0� <7=�58� 16035>53�2578� 37830621� �<<� 2/0� 8725781� 7>����
124�32�0A0821��8<�08252501��#0:1��?0�0A082�733:440830�20=6?�201�
/0?6�58�<0>58589�>5@0<�6�220481�>74�0A082�733:4408301�;/040�58<5�
A5<:�?�6�421�3�8��0�7A0445<<08�;/08�2/0�20=6?�20�51�:10<�;52/58�
�� 124:32:40<� 2012� 7�D0325A0�� !58�??B�� �472737?� �=6?0=082�2578�
�78>74=�830�	2�20=0821�
���	��647A5<0��8�58<53�2578�58�;/53/�
5=6?0=082�25781���6�4253:?�4�2012�7�D0325A0�51��66?53��?0��!59��%�
1/7;3�101��8�0@�=6?0�;52/�<7=�58�16035>53�2578�37830621��

	24:32:40<� 2012� 7�D0325A01� 3782�58� �<<52578�?� <01345625A0�
=02��58>74=�2578�� 583?:<589��8�762578�?� 40>040830� 27��� 40?�20<�
2012�378>59:4�2578���1�;0??��1���10?032578�7>��66?53��?0����	���/0�
58525�?�378<525781��0@60320<��0/�A57:4���8<�>58�?�378<525781��40�
37=64510<�7>�0A082�733:440830�10E:08301��;/53/�=�C0�:6�2/0�
=�D74�378245�:2578�7>�2/0��
�����0@2081578��!59��*�1/7;3�101�
�8�5??:124�25A0�0@�=6?0�>74���=585=�?�2012�6:46710�16035>50<�;52/�
�
�������/0�=�58�6�42�7>�2/0�2012�6:46710�51�3782�580<�58�2/0�

0@60320<��0/�A57:4��?73C���2�51�37=64510<�7>�780�74��=740�37=�
=78?B��1�58�2/0�0@�=6?0��2;7��?73C1��<01345�589�2/0���153�125=�
:?:1�40167810�6�22048���������10E:0830�7>�780�74�=740�0A0821�
733:41��1���125=:?:1��$������10E:0830�7>�780�74�=740�0A0821�73�
3:41��1��� 40167810� 27� 2/0� >5412� 10E:0830�� �8� 2/0�0@�=6?0�� 0�3/�
10E:0830�51�37=64510<�7>���1589?0�0A082�733:440830����3/�0A082�
733:440830�40>0408301�780�74��>74�=740�37=6?0208011��2;7�
�1�58�
2/0�0@�=6?0��08252501�2/�2��40�58A7?A0<�58�2/0�0A082�733:440830��
�A082�733:4408301��?17�583?:<0�40>0408301�27�2/0�0A0821�2/�2�73�
3:4���8�2/51�0@�=6?0��2/0�0A0821��40��������8<�
����%�����:2�2/0B�
3�8��?17��0��4�524�4B�0A0821�74�12�201�<0>580<�58�2/0�<7=�58�1603�
5>53�2578��1:3/��1���%�������������023���8�0A082��49:=082�647A5<01�
�<<52578�?�58>74=�2578�409�4<589�2/0�0A082�733:440830��:1:�??B�
58�2/0�>74=�7>���<�2��16035>53�2578��52�=�B��?17�58<53�20���<0>580<�
12�20�74�<01540<�67152578��!58�??B��25=0�?��0?1������8<�25=0�378�
124�5821� ���� 3�8��0�:10<� 27� 0@64011� 20=674�?� <0608<083501��0�
2;008�0A082�733:4408301��8<�374401678<589� 20=674�?� 40E:540�
=0821��

�/0�58525�?��8<�>58�?�378<525781��40�7=5220<�58�2/0�0@�=6?0�
>74��40A52B���/0B�>7??7;���15=5?�4�124:32:40��1�2/0�0@60320<��0�
/�A57:4���:2�78?B�583?:<0�780��?73C�;52/�2/0�40?0A�82�10E:08301�
7>�0A082�733:4408301�;/53/�<0>580�2/0�12�20�7>�2/0�	B120=��8<04�
�012�
	�����0>740��8<��>204�2/0�2012��3782�580<�58���374401678<�
589�&�$��10E:0830�7>�780�74�=740�0A082�733:4408301�;52/58�2/0�
58525�?��8<"74�>58�?�378<525781��?73C1��

�/0�20@2:�?�406401082�2578�51�378A085082�>74�0<52589��8<�A04�
1578589���/0�94�6/53�?�406401082�2578�51�=740�378A085082�>74�0=�
�0<<589�58�<73:=0821���/0�374401678<589�94�6/53�?�406401082��
2578�>74�2/0�0@�=6?0�58�!59��*�<513:110<���7A0�51�1/7;8�58�!59��
����1�6�42�7>�2/0�94�6/53�?�?�B7:2��17=0�C0B;74<1��1:3/��1���$�$'��
�1�;0??��1�16035�?�3/�4�32041�=�B��0�7=5220<�>74��02204�40�<��5?�
52B��	5=5?�4?B��762578�?�37=6�42=0821�;/53/��40�0=62B�=�B��0�
7=5220<�58�2/0�>58�?�94�6/53�?�406401082�2578���

�/0�124:32:40<�2012�7�D0325A01�3�8�2/08��0�40>580<�5827�=740�
<02�5?0<�2012�<01345625781��052/04�=�8:�??B�74�
10=5����:27=�25�
3�??B�
0�9���B�=0�81�7>�=7<0?�24�81>74=�25781�����94�6/53�?�406�
401082�2578�7>�2/0�<045A0<�2012�<0134562578�51�1/7;8�58�!59������2�
3�8��0�:10<�>74�<73:=082�2578��8<�37==:853�2578�6:467101��74�
�1�2/0���151�>74�>:42/04�40>580=082��583?:<589�24�81>74=�2578�27�

Domain { 
    pics: 
    - ACCEPTS_REQUESTS 
    - AUTHENTICATES_REQUESTS 
    ; 
    entities:  
    - client 
    - server 
    - gateway 
    - authenticator 
    ; 
    events: 
    - sends 
    - receives 
    - registers 
    - acknowledges 
    - logs 
    - initiates 
    - confirms 
    ; 
} 
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Test Purpose { 
    TP Id GET_RESOURCE 
    Test objective "A resource shall be received within 5ms after a request" 
    PICS Selection ACCEPTS_REQUESTS 
    Expected behaviour 
    ensure that { 
        when { 
            (.) at time point t1: 
                the client entity sends a request 
                        containing uri set to "/resource/"; 
                    to the server entity 
        } 
        then { 
            (!) within 5ms after t1:  
                the client entity receives a response 
                        containing body set to "resource: {...}"; 
                    from the server entity 
        } 
    } 
} 
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ensure that { 
    when { 
        . at time point t1: 
            the client sends a request 
                    containing uri set to "/resource/" 
                to the server entity 
    } 
    then { 
        ! 5ms after t1: 
            the client receives a response 
                    containing body set to "resource: {...}" 
                from the server entity 
    } 
} 
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function setupTestConfiguration_ClientServer()  
    runs on MTC_BasicClientServer { 
  client := API.create; 
  map (client : http_to_server_http ,  
       system : server_http); 
} 
 
function TD_GET_RESOURCE()  
    runs on MTC_ClientServer { 
  client.start(TD_GET_RESOURCE_client_main()); 
} 
 
function TD_GET_RESOURCE_client_main()  
    runs on API { 
  http_to_server_http.send(Request : { 
    uri := "/resource" 
  }); 
  http_to_server_http.receive(Response : { 
    body := "resource: {...}" 
  }); 
} 
 
testcase tc_TD_GET_RESOURCE ( )  
    runs on MTC_ClientServer  
    system SYSTEM_ClientServer { 
  setupTestConfiguration_ClientServer() ; 
  TD_GET_RESOURCE() ; 
  all component.done ; 
} 
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with { 
    the IUT being_in the initial_state 
} 
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ensure that { 
    when { 
        the IUT receives a request message containing 
            version indicating value 1, 
            msg_type indicating value 0, //Confirmable 
            token_length indicating value 0, 
            code indicating value NULL, //broken message 
            msg_id corresponding to MSG_ID1 
    } 
    then { 
        the IUT is pingable 
    } 
} 
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ensure that { 
    when { 
        . at time point t1: 
            the clients sends multiple Ping messages and assures the RATE and 
        ! during INTERVAL after t1: 
            the IUT receives several Ping messages and 
        . at time point t2: 
            the clients sends multiple Ping messages and assures the SPIKE_RATE and 
        ! during INTERVAL after t1 : 
            the IUT sends multiple messages containing 
                code indicating value 7.03 
    } 
    then { 
        the IUT assures the response messages and 
        the IUT assures the packet_loss_limit and 
        the IUT assures the DELAY 
    } 
} 
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Configuration { 
  Interface Type defaultGT accepts DiameterMessage; 
  Component Type DiameterComp with  
    gate g of type defaultGT 
  ; 
  Test Configuration CF_VxLTE_INT containing  
    SUT component EPC_PGW_A of type DiameterComp 
    SUT component EPC_PCRF_A of type DiameterComp 
    SUT component S_CSCF_A of type DiameterComp 
    SUT component I_CSCF_A of type DiameterComp 
    SUT component P_CSCF_A of type DiameterComp 
    SUT component HSS_A of type DiameterComp 
    SUT component EPC_MME_A of type DiameterComp 
    SUT component IMS_AS_A of type DiameterComp 
    connection between EPC_MME_A.g and HSS_A.g 
    connection between EPC_PGW_A.g and EPC_PCRF_A.g 
    connection between EPC_PCRF_A.g and P_CSCF_A.g 
    connection between HSS_A.g and S_CSCF_A.g 
    connection between HSS_A.g and I_CSCF_A.g 
    connection between IMS_AS_A.g and HSS_A.g 
  ; 
  Test Configuration CF_VxLTE_RMI containing  
    SUT component EPC_PGW_B of type DiameterComp 
    SUT component EPC_PCRF_A of type DiameterComp 
    SUT component EPC_PCRF_B of type DiameterComp 
    SUT component P_CSCF_B of type DiameterComp 
    SUT component HSS_A of type DiameterComp 
    SUT component EPC_MME_B of type DiameterComp 
    connection between EPC_MME_B.g and HSS_A.g 
    connection between EPC_PGW_B.g and EPC_PCRF_B.g 
    connection between EPC_PCRF_A.g and EPC_PCRF_B.g 
    connection between EPC_PCRF_B.g and P_CSCF_B.g 
  ; 
} // End of Configuration section 
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